Να λύσετε τις πιο κάτω μαθηματικές προτάσεις:

	1 + 6 = __
	11 + 6 = __
	7-4= __
	17-4= __

	5 + 5 = __
	15 + 5 = __
	8-3= __
	18-3= __

	4 + 5 = __
	14 + 5 = __
	8-4= __
	18-4= __

	1 + 2 = __
	11 + 2 = __
	7-5= __
	17-5= __

	1 + 6 = __
	11 + 6 = __
	9-3= __
	19-3= __

	1 + 8 = __
	11 + 8 = __
	8-4= __
	18-4= __

	1 + 9 = __
	11 + 9 = __
	9-1= __
	19-1= __

	4 + 5 = __
	14 + 5 = __
	5-3= __
	15-3= __

	1 + 2 = __
	11 + 2 = __
	6-1= __
	16-1= __

	5 + 4 = __
	15 + 4 = __
	7-3= __
	17-3= __

	3 + 2 = __
	13 + 2 = __
	9-1= __
	19-1= __

	5 + 2 = __
	15 + 2 = __
	8-1= __
	18-1= __




	1+ __ =6
	1+ __ =16
	__-6= 1
	__-6= 11

	3+ __ =6
	13+ __ =16
	__-5= 2
	__-5= 12

	5+ __ =7
	5+ __ =17
	__-3= 2
	__-3= 12

	4+ __ =8
	14+ __ =18
	__-3= 3
	__-3= 13

	1+ __ =9
	1+ __ =19
	__-5= 4
	__-5= 14

	4+ __ =9
	14+ __ =19
	__-2= 1
	__-2= 11

	3+ __ =9
	3+ __ =19
	__-5= 3
	__-5= 13

	5+ __ =9
	15+ __ =19
	__-7= 2
	__-7= 12

	3+ __ =8
	13+ __ =18
	__-7= 1
	__-7= 11

	4+ __ =8
	4+ __ =18
	__-5= 5
	__-5= 15

	5+ __ =7
	15+ __ =17
	__-4= 1
	__-4= 11

	3+ __ =7
	3+ __ =17
	__-5= 4
	__-5= 14


[bookmark: _GoBack]
